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JOMO KENYATTA UNIVERSITY OF AGRICULTURE AND TECHNOLOGY

UNIVERSITY EXAMINATIONS 2016/2017

FIRST YEAR FIRST SEMESTER EXAMINATION FOR THE  DEGREE OF

BACHELOR OF COMMERCE / 

BACHELOR OF BUSINESS AND INFORMATION TECHNOLOGY/

 BACHELOR OF PROCUREMENT AND CONTRACT MANAGEMENT 
HPS 2103: FINANCIAL ACCOUNTING 1
DATE:  APRIL, 2017
                              


        TIME: 2 HOURS   
INSTRUCTIONS: 
 ANSWER QUESTION ONE (COMPULSORY) AND ANY

 
 OTHER TWO QUESTIONS


SHOW ALL YOUR WORKINGS CLEARLY IN THE ANSWER SHEET.

 QUESTION ONE: 30 MARKS 
a.
i.
Define the term accounting and briefly describe three (3) branches of

 

accounting.







(3 marks)
ii.
List out any three (3) differences between journal and ledger.


(3 marks)

iii.
Explain any four (4) users of accounting information.
(4 marks)

b.
Spencer drew up the following trial balance as at 30th September 2004.  You are required to draft the Trading Profit and Loss Account for the year to end September 2004 and a Balance Sheet as at that date.
(20 marks)

	Trial balance
	
	

	
	Dr (sh)
	Cr (sh)

	Capital
	842,000
	

	Drawings
	311,500
	

	Cash at bank
	29,500
	

	Cash in hand
	1,230,000
	

	Debtors
	
	937,000

	Stock 30th
September 2003
	2,391,000
	

	Motor van
	410,000
	


	Office equipment
	625,000
	

	Sales
	
	1,309,000

	Purchases
	9,210,000
	

	Returns inwards
	55,000
	

	Carriage inwards
	21,500
	

	Return outwards
	
	30,700

	Carriage outwards
	30,900
	

	Motor expenses
	163,000
	

	Rent
	297,000
	

	Telephone charges
	40,500
	

	Wages and salaries
	1,281,000
	

	Insurance
	49,200
	

	Office expenses
	137,700
	

	Sundry expenses
	28,400
	

	
	17,153,200
	17,153,200


QUESTION TWO:  20 MARKS
a.
Explain two (2) purposes for which control accounts are prepared.


(2 marks)
b.
Explain six (6) main types of errors that do not affect the trial balance.










(6 marks)

c.
Explain the following accounting terms and show their adjustments and treatment in the final books of accounts.



(12 marks)


i.
Bad debts.


ii.
Provision for doubtful debts.


iii.
Provision for discounts allowable.


iv.
Depreciation


v.
Disposal of assets


vi.
Prepaid expenses.

QUESTION THREE: 20 MARKS


a.
Define partnership and give three reasons why it exists.

(4 marks)
b.
Explain any four (4) contents of a partnership agreement

 (4 marks)

c.
Discuss the Memorandum of Association and certificate of Incorporation.










(5 marks)

d.
Give any seven (7) principal distinctions between unlimited partnerships and limited companies.






(7 marks)

QUESTION FOUR: 20 MARKS 
The following trial balance was extracted from the books of literary and

philosophical society as at 30th September 2010.

	
	Dr (sh)
	Cr (sh)

	Balance at bank (current account)
	724,800
	

	Accumulated fund 1st October 2009
	
	5,771,200

	Land and buildings at cost
	3,700,000
	

	Debtors for subscription
	62,000
	

	Furniture and fittings
	1,874,000
	

	Provision for depreciation (of furniture and fittings)
	
	284,000

	Subscriptions
	
	1,450,800

	Lecturer’s fees 
	920,000
	

	Lecturer’s travel & accommodation expenses
	358,000
	

	Donations
	
	108,000

	Camera and projector repairs
	17,000
	

	Projectors, cameras and audio equipments
	190,400
	

	Depreciation of equipment
	
	54,400

	Rates and water
	277,000
	

	Lighting and heating
	367,200
	

	Rental of rooms
	
	495,000

	Wages –care taker
	880,000
	

	· Restaurant
	1,600,000
	

	· Bar staff
	800,000
	

	Purchase of food
	1,565,800
	

	Stock – bar 1st October 2009
	473,600
	

	Bar receipt
	
	4,032,000

	Bar purchases
	2,842,000
	

	Restaurant receipts
	
	3,642,000

	Loan
	
	1,600,000

	Deposit account – bank
	1,000,000
	

	Interest payable and receivable
	
	36,000

	Creditors for bar and food
	
	178,400

	
	17,651,800
	17,651,800


Additional information:-

1.
The bar stock was valued at sh. 642,800 as at 30th September 2010.

2.
It is expected that, of the debtors for subscription, sh. 43,600 will not be collectible.

3.
The interest account is net.  The loan is at a concessional rate of 4% while 10% has been earned on the deposit account.  No changes have taken place all year in the principal sums involved.

4.
An invoice for sh. 43,000 of wine had been omitted from the records at the close of the year although the wine had been included in the bar stock valuation.

5.
Depreciation for the year is to be provided as follows:-


X   Furniture & fittings

sh. 194,000

· Projectors, cameras etc 
sh. 19,000

Required:-

a.
prepare Bar and restaurant trading account for the year ended 

30th September 2010.






(6 marks)

b.
An income and expenditure account for the year ended 

30th September 2010.






(8 marks)

c.
A balance sheet as at 30th September 2010.



(6 marks)

QUESTION FIVE: 20 MARKS
The following balances remained in the books of Kibwana Ltd, a manufacturing company after balancing off the ledgers on 30th November 2003.  You are required to prepare a manufacturing account and trading profit and loss account for the year ended 30th November 2003.
	
	Shs.

	Stock on 1st December 2002:
	

	     Raw materials
	500,000

	     Working in progress
	200,000

	     Finished goods
	1,500,000

	Purchase of raw materials
	4,000,000

	Returns of raw material to suppliers
	50,000

	Repairs to factory building
	250,000

	Salaries and wages
	

	     Factory workers
	900,000

	     Sales men
	180,000

	     Administrative staff
	420,000

	Insurance
	500,000

	Royalties paid
	200,000

	Depreciation of plant
	120,000

	Depreciation of buildings
	400,000

	Advertising expenses
	40,000

	Discounts allowed
	5,000

	Cleaning expenses of buildings
	15,000

	Bank charges
	14,000

	Depreciation of delivery vans
	26,000

	Stock on 30th November 2003
	

	     Raw materials
	480,000

	     Work in progress
	300,000

	     Finished goods
	1,200,000

	Rent
	2,000,000

	Direct expenses
	230,000

	Sales
	12,000,000

	Sales returns
	500,000


Additional information:

1.
The factory building has been damaged as a result of faulty electricity wring.  A provision of sh. 100,000 is required to cater for the repairs.

2.
The building used by the company occupiers an area of 10,000m2, the warehouse 2000m2  and the rest is occupied by the administrative offices.

3.
Insurance prepaid on 30th November 2003 amounted to sh. 50,000.  The insurance expense is to be apportioned in the ratio 2:2:1 to the factory, warehouse and adminitive expenses respectively.

4.
A provision of sh. 50,000 needs to be made for a bonus payable to the factory supervisor who helped to reduce the idle time during the year.
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